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i =1 T 11.0 1.895 50 - <0.02
b = + 154 2.048 50 - <0.02
s =1 + 20.8 1.943 80 - <0.02
i =1 + 24.7 1.950 80 - <0.02
i = T 26.9 1.818 100 - <0.02
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=BE#®E - 167.5 1.273 300 - <0.02
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XN OLBRHER - RIETER465 (FR3E)

X HIRBRIBEE(E

JNMEZ A4 0.05mg/L T

KN—RF—TZHVCHBIN S TNICTERRELEZBI S5/\MI7 OLNBET 2HENHDEITDT,

FRICHARZT> TALEZ O

28 6. N\—R*—7LD

BLIEEE W,



6. \—K*—7LD

| HERERD—PHI |
BEESIEEHERO—F IN\—KEX—7LDEP-5300 8,
10000 B OE EX E % B EF il x2
P=530

RENET$ (- BTN THAAN SRR

%\ 1000 ECURAR LEOBIZL SR

o M= BHLIECY

@ 100 BB £ TILF E13 S £ LA

[N D LR LI-BED D

10 o= o=—0=—0=0——"1—0—2
EBLEAORRE
1

12 3 4 5 6 1 8 9 10 11
e RE ()

X1 AEABAICIEDSS ISR ZET I, BHENDZENES =1 00EERL TEHAIT 5,
X2 (A1) BRERRS "HERE - AREEES L0k

BETEORERRIO—HF IN—K*x—7LDEP-530Dt %,

| — P-530 fEFIfI —
ST € S8 S EEREE [

"

RS

6. \—KR*—=TLD | 29



MARMERNCEH SN TWSRIER, AEEORERLTI,
KAKMERCTH SN TVWEARIE, FAERDOBERBRERILT2HDTEHD XA,
HKAERMERDORRIEZ, FERCEETZIENHDET,

BERSEE

1EBL 1 2021448

#Asd FITY

X bERRFEE 103-0023
XY hRRRTEE 530-0005
& X & 730-0017
¥ X 5 760-0023
M X & 810-0001

oo 5

RREFRX A AIEAR4-8-16 KDXHTHABERATL)L TEL (03)6225-2555 FAX (03

KERFIRPE2-2-THhHe 5t MIIILTT—
[ESTHRXKIEES-18AEREHED EIL
BITHHE2-1-1EME— 4w EILHRE
BRTHRARK#H2-8-38 HAl L)L

6225-2589
TEL (06)6201-7207 FAX (06)6201-7227

(03) (

(06) (

TEL (082)223-7311 FAX (082)223-2347
( (
( (

)
)

TEL (087)822-0061 FAX (087)822-3627
TEL (092)732-6677 FAX (092)732-4400



